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01 TICHA S2{ 7]
import pandas as pd

02 H|OJE =H|
import seaborn as sns

iris = sns.load_dataset("iris")
iris
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https://pandas.pydata.org/

sepal_length sepal_width petal_length petal_width

0 5.1 35 14 0.2
1 4.9 3.0 14 0.2
2 4.7 3.2 1.3 0.2
3 4.6 3.1 1.5 0.2
4 5.0 3.6 14 0.2
145 6.7 3.0 5.2 2.3
146 6.3 2.5 5.0 1.9
147 6.5 3.0 5.2 2.0
148 6.2 34 54 2.3
149 5.9 3.0 5.1 1.8

150 rows x 5 columns

species
setosa
setosa
setosa
setosa

setosa

virginica
virginica
virginica
virginica

virginica

### seabornOl Xl =2ci2 OO Az 2COA OOH =0l = C.

type( iris )

pandas.core.frame.DataFrame

g CIOIEH =2 OOIHS 2 22 AlelX20IC.
type( iris['species'] )

pandas.core.series.Series
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## A, @ =ol
iris.shape

(150, 5)

it 288 =0l

iris.columns

Index(['sepal_length', 'sepal width', 'petal length',

'species'],
dtype="object")

#gr 22| OIOIEH 2#HED - Jl=gt2 5, =& KNEA oiE

iris.head()

'petal_width',

=
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sepal_length sepal_width petal_length petal_width species

0 5.1 35 14 0.2
1 4.9 3.0 14 0.2
2 4.7 3.2 1.3 0.2
3 4.6 3.1 1.5 0.2
4 5.0 3.6 14 0.2

#r#t 512 OIOIEH AHED - JlEte 5, <X NEA HE

iris.tail()

sepal_length sepal_width petal_length petal_width

145 6.7 3.0 52 2.3
146 6.3 2.5 5.0 1.9
147 6.5 3.0 5.2 2.0
148 6.2 34 54 2.3
149 59 3.0 5.1 1.8
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print( iris.head(7) )
print()
print( iris.tail(7) )

setosa

setosa

setosa

setosa

setosa
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species
virginica
virginica
virginica
virginica

virginica

sepal_length sepal width petal_length petal width species

0 5.1 3.5 1.4 0.
1 4.9 3.0 1.4 0.
2 4.7 3.2 1.3 0.
3 4.6 3.1 1.5 0.
4 5.0 3.6 1.4 0.
5 5.4 3.9 1.7 0.
6 4.6 3.4 1.4 0.
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setosa
setosa
setosa
setosa
setosa
setosa
setosa

sepal_length sepal_width petal_length petal_width species

143 6.8 3.2 5.9
144 6.7 3.3 5.7
145 6.7 3.0 5.2
146 6.3 2.5 5.0
147 6.5 3.0 5.2
148 6.2 3.4 5.4
149 5.9 3.0 5.1

# OOH EE
iris.info()
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virginica
virginica
virginica
virginica
virginica
virginica
virginica



<class 'pandas.core.frame.DataFrame’>

RangeIndex: 150 entries, © to 149

Data columns (total 5 columns):
Non-Null Count Dtype

# Column

W N R o

sepal_length
sepal_width
petal_length
petal_width
4  species

150 non-null

150 non-null
150 non-null

150 non-null
150 non-null

dtypes: float64(4), object(1l)
memory usage: 6.0+ KB

# OOIH =x1&0l CHoll OtE D]
iris.describe()

sepal_length

count  150.000000

mean
std
min
25%
50%
75%

max

5.843333

0.828066

4.300000

5.100000

5.800000

6.400000

7.900000

# 0OIH =&
iris.describe(include=['0"])

species
count 150
unique 3

top setosa

freq

50

# OIOIEHOI B U
iris.isnull().sum()

sepal_length
sepal_width

petal_width

species

0
0
petal_length 0
0
0

dtype: inté64
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sepal_width
150.000000
3.057333
0.435866
2.000000
2.800000
3.000000
3.300000

4.400000
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float64
float64
float64
float64
object

petal_length petal_width

150.000000
3.758000
1.765298
1.000000
1.600000
4.350000
5.100000

6.900000

I
ball
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150.000000

1.199333

0.762238

0.100000

0.300000

1.300000

1.800000

2.500000



print( iris )

iris.iloc[ ©:10 , : ] # M QA0 AN 108 HEH

sepal_length sepal width petal_length petal width species

0 5.1 3.5 1.4 0.2 setosa
1 4.9 3.0 1.4 0.2 setosa
2 4.7 3.2 1.3 0.2 setosa
3 4.6 3.1 1.5 0.2 setosa
4 5.0 3.6 1.4 0.2 setosa
145 6.7 3.0 5.2 2.3 wvirginica
146 6.3 2.5 5.0 1.9 virginica
147 6.5 3.0 5.2 2.0 virginica
148 6.2 3.4 5.4 2.3 virginica
149 5.9 3.0 5.1 1.8 virginica

[150 rows x 5 columns]

sepal_length sepal_width petal_length petal_width species

0 5.1 35 14 0.2 setosa
1 4.9 3.0 14 0.2 setosa
2 47 32 1.3 0.2 setosa
3 4.6 3.1 1.5 0.2 setosa
4 5.0 3.6 1.4 0.2 setosa
5 54 3.9 1.7 0.4 setosa
6 46 34 14 0.3 setosa
7 5.0 34 1.5 0.2 setosa
8 44 29 1.4 0.2 setosa
9 49 3.1 1.5 0.1  setosa
% A

print( iris.columns )

iris.iloc[ : , @:1 ] # O HH & &A™

Index([ 'sepal_length', 'sepal width', 'petal_length', 'petal_width',
"species'],
dtype="object")



sepal_length

0 5.1
1 4.9
2 4.7
3 4.6
4 5.0
145 6.7
146 6.3
147 6.5
148 6.2
149 5.9

150 rows x 1 columns

0
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iris.loc[ ©:5 , : ] #

sepal_length sepal_width petal_length petal_width species

0 5.1 35 14 0.2  setosa
1 4.9 3.0 14 0.2 setosa
2 4.7 3.2 1.3 0.2 setosa
3 4.6 3.1 1.5 0.2 setosa
4 5.0 3.6 14 0.2 setosa
5 54 3.9 1.7 04 setosa

iris.loc[ : , ‘'sepal_length':'petal width' ] # HEBIW ZAEFH UHMN Z2d A=



145

146

147

148

149

150 rows x 4 columns

* last update : 24/06, @by DJ, Lim

sepal_length sepal_width petal_length petal_width

5.1

4.9

47

4.6

5.0

6.7

6.3

6.5

6.2

5.9

35

3.0

3.2

3.1

3.6

3.0

2.5

3.0

34

3.0

14

14

1.3

1.5

14

5.2

5.0

5.2

54

5.1

0.2

0.2

0.2

0.2

0.2

2.3

1.9

2.0

2.3

1.8



